COOLING TOWER

6000 Series Tuf-Lite

The Depot of All Cooling Towers
‘www.coolingtowerdepot.com

17,18 & 19

o) fum—

i
Series 6000M HUB

5..1
12—,

HUDSON PRODUCTS CORPORATION
Adjustable Pitch Fan Assembly 34’ Diameter

\‘ / g
w
e O
gz
e a L
< (%)
o 2
E @
= % =
w = =
w
< 2 o=
w = [sll=
(Y=} Z D
® gao Lo
< L wv
B e .2
- = >
n O w >
- ¥ w
- < o
- T o
[~ ==
o
i
(<))
-
PROJECT NAVE THIS DRAWING IS THE SOLE PROPERTY OF COOLING TOWER DEPOT INC. USE SHALL BE LIMITED TO THE PROJECT FOR WHICH IT IS INTENDED. NO REPRODUCTION SHALL BE 5 2 3
AND LOGATION MADE NOR SHALL THIS INFORMATION BE MADE AVAILABLE TO THIRD PARTIES WITHOUT THE PRIOR WRITTEN CONSENT BY COOLING TOWER DEPOT INC. ANY AND ALL g 2 H
8 o PROPRIETARY RIGHTS TO THIS INFORMATION AND DESIGN ARE THE SOLE PROPERTY OF COOLING TOWER DEPOT INC. H ° H
=3 REVISIONS 3 §
= orsonrron orso o | cveaxcoov. | seemoveor | o COOLING TOWER DEPOT, INC > i
WG NAVE d
N
= ° CORPORATE CIRCLE zi 13
[=] [ noeen Tom e e . =R
GOLDEN, CO 80401 » | .
= |  A-100 1.1 o P ; g -
3
£l [ie NO SCALE | comens - 720-746-1234 = -

Cooling Tower Depot | Corporate Circle | Golden, GO 80401 | Toll Free 877.243.3945 | Phone: 720.746.1234 | Fax: 720.746.1110




COOLING TOWER

6000 Series Tuf-Lite

The Depot of All Cooling Towers
‘www.coolingtowerdepot.com

NO. OF BLADES
ITEM DESCRIPTION TYPE PART. NO 6 7 8 9 10 1 12
34 Ft. Dia. Fan W-1 Hub Assy. No. | 6906M9.65 | 6907M9.65 | 6908M9.65 | 6909M9.65 | 6910M9.65 | 6911M9.65 | 6912M9.65
Up to 7.44” Diameter Shaft ° Part No. 42470 42471 42472 42473 42474 42475 42476
1 [ 6225 Dia-Hub Platesfor34'Dia. -y 4 Part No. D6862 D6863 D6864 D6865 D6866 D6867 D6868
ITEM DESCRIPTION TYPE PART. NO QUANTITY PER ASSEMBLY

2 Hub Spool W-1 D6854 1 1 1 1 1 1 1
3 Bushing W-1 Specify Bore 1 1 1 1 1 1 1
4 Blade Clamp Half, Powder Epoxy Coated Die D5131

Cast Alum. (Standard)

Option 1: Powder Epoxy Coated Ductile Iron** 66550011:,’% 12 . 18 18 2 22 24

Option 2: Coal Tar Epoxy Coated Ductile Iron**

Blade Clamp Bolt 3/4”-10 x 10”
5 (Grade 8,EcoGuard®) 42404 24 28 32 36 40 44 48
6 3/4” Lock washer (EcoGuard®) 42405 24 28 32 36 40 44 48
7 3/4” Flat washer (EcoGuard®) 42406 48 56 64 72 80 88 96

Hex Nut 3/4”-10 (EcoGuard®) 42407 24 28 32 36 40 44 48

Hub Spool Cap Screw 3/4"-11 x 2 1/2"(316 SS) 57027 16 16 16 16 16 16 16
10 3/4” Lock washer (316 SS) 73739 16 16 16 16 16 16 16
11 3/4” Flat washer (316 SS) 73720 16 16 16 16 16 16 16
12 Pin, Grooved, 1/2" X 1-1/2” 74540 4 4 4 4 4 4 4
13 Stiffener Ring (1 per hub) D6869 1 1 1 1 1 1 1
14 Stiff. Ring Bolt, 5/8"-11 X 2" w/nut (316 SS) 65690 20 20 20 20 20 20 20
15 Stiff. Ring Lock Washer 5/8” (316 SS) 73731 20 20 20 20 20 20 20
16 Stiff. Ring Flat Washer 5/8” (316 SS.) 73719 40 40 40 40 40 40 40
17 Eye Bolt W/ Nut 3/4”-10 x 2" (HDG) 59547 3 3 3 3 3 3 3
18 3/4” Flat Washer (HDG) 16716 6 6 6 6 6 6 6
19 3/4” Lock Washer (HDG) 73738 3 3 3 3 3 3 3
20 88" Diameter Seal Disc Assy Kit * 81126STLIV 1 1 1 1 1 1 1
21 Tuf-Lite IV® Blade (Black) (Varies) 6 7 8 9 10 11 12

* Includes all hardware (316 SS) to assembly and mount.
** Recommended on concrete and round towers, or corrosive environments. Contact Hudson for pricing.

STANDARD MATERIALS & FINISHES

Blades: Fiberglass reinforced vinyl ester Blade Clamps:

Hub Spool: Ductile Iron, Coal Tar Epoxy coating Epoxy Powder Coated Die Cast Alum (Standard)
Plates: Coal Tar Epoxy coated steel Epoxy Powder Coated Ductile Iron (Option 1)
Bushing: Malleable Iron Coal Tar Epoxy Coated Ductile Iron (Option 2)
Seal Disc: Fiberglass Reinforced Polyester Fasteners:

Grade 8 (EcoGuard®)
Complete Fan with K500 Monel (Option 1)

WHEN ORDERING, SPECIFY FAN DIAMETER, TYPE & NUMBER OF BLADES & SHAFT DIAMETER
EXAMPLE: [ APT — 34M —

Fan Model Fan Diameter & Blade Type Number Shaft Diameter
. . . . ®
Adjustable Pitch (Specify “M” for Tuf-Lite IV Blades) of Blades
PROJECT NAWE THIS DRAWING IS THE SOLE PROPERTY OF COOLING TOWER DEPOT INC. USE SHALL BE LIMITED TO THE PROJECT FOR WHICH IT IS INTENDED. NO REPRODUCTION SHALL BE 5 2 3
AND LOGATION MADE NOR SHALL THIS INFORMATION BE MADE AVAILABLE TO THIRD PARTIES WITHOUT THE PRIOR WRITTEN CONSENT BY COOLING TOWER DEPOT INC. ANY AND ALL < s H
e PROPRIETARY RIGHTS TO THIS INFORMATION AND DESIGN ARE THE SOLE PROPERTY OF COOLING TOWER DEPOT INC. F ° 2
orsonrron orso o | cveaxcoov. | seemoveor | o COOLING TOWER DEPOT, INC » i
. CORPORATE CIRCLE Z¢ 25
1 Bl = 2O
oo A R GOLDEN, CO 80401 @ |-
wns NO SCALE | comoms 720-746-1234 z |-
¢ m

Cooling Tower Depot | Corporate Circle | Golden, GO 80401 | Toll Free 877.243.3945 | Phone: 720.746.1234 | Fax: 720.746.1110




